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Read the following instruction carefully 
before you answer the questions. Answers 
are to be marked on a SEPARATE O.M.R. 
SHEET

1. Please write your Centre Code No. 
and Roll No. very clearly (only one 
digit in one block) as given on your 
admission card and even zeros 
appearing in the Centre Code No. 
and Roll No. should be correctly 
written in the appropriate blocks on 
O.M.R. Sheet.

Example:

National Means Cum Merit Scholarship Examination 2013
jk"Vªh; lkèku o ;ksX;rk Nk=ko‘fÙk ijh{kk  2013

th(For students studying in Class 8 )
d{kk vkBoha esa vè;;ujr fo|kfFkZ;ksa ds fy,

State Council of Educational Research and Training Haryana, Gurgaon
jkT; ’kSf{kd vuqlaèkku ,oa izf’k{k.k ifj"kn~ gfj;k.kk] xqM+xk¡o

( )

Time Allowed : 3 Hours
Maximum Marks : 180

iz’uksa ds mÙkj nsus ls igys fuEufyf[kr funsZ’kksa 
dks è;ku ls if<+,A mÙkj ,d vyx vks-,e-vkj- 
’khV ij vafdr djus gSaA

1. viuk dsUnz dksM uEcj rFkk jksy uEcj 
tSlk fd vkids izos’k&i=k esa fn;k x;k gS] 
Li"Vr;k ¼,d pkS[kVs esa dsoy ,d vad½ 
fyf[k,A ;gk¡ rd fd vkids dsUnz dksM 
uEcj rFkk jksy uEcj esa vius okys ’kwU; 
ds vad Hkh vks-,e-vkj- ’khV ij lgh 
pkS[kVs esa fy[ks tk,¡A

mnkgj.k

Scheme 
Code

State 
Code

Year Centre Code Roll No.

3 2 7 1 3

le; % 3 ?kaVs
iw.kk±d % 180

Instructions to the Candidates
ijh{kkfFkZ;ksa ds fy, funsZ’k

Scheme 
Code

State 
Code

Year Centre Code Roll No.

3 2 7 1 42113113

Ldhe
dksM

jkT; 
dksM

o"kZ dsUnz dksM vuqØekad

3 2 7 1 42113113
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2. This test has two parts. Part I as well 
as part II consist of 90 questions in 
each.

3. Each question carries one mark.

4. Since the time allotted to the two parts 
of this question-paper is very limited, 
you should make the best use of it by 
not spending too much time on any 
question.

5. Extra page has been provided for 
rough work at the end of question 
paper.

6. Do not mark more than one answer of 
any question on OMR sheet 
otherwise answer will be cancelled.

7. Avoid cutting/over writing/use of fluid 
etc.  on OMR Sheet.

8. Attempt each question, there is no 
negative marking in this test.

Note:Do not write anything except the 
Roll Number and rough work 
anywhere in the booklet.

2. ;g ijh{kk nks Hkkxksa esa gSA izR;sd Hkkx esa 
90 iz’u gSA

3. izR;sd iz’u dk ,d vad gSA

4. pwafd bl iz’u&i=k ds nksuksa Hkkxksa ds 
fuèkkZfjr le; lhfer gS] blfy, bldk 
vfèkdre lnqi;ksx dhft, vkSj fdlh 
iz’u ij cgqr le; u yxkb,A

5. iz’u iqfLrdk ds var esa (Rough) jQ dk;Z 
ds fy, vfrfjDr i‘"B fn;k x;k gSA

6. vks-,e-vkj- ’khV ij fdlh Hkh iz’u ds ,d 
ls vfèkd mÙkj ekdZ u djsa ojuk mÙkj 
fujLr gks tk,xkA

7. vks-,e-vkj- ’khV ij dfVax@vksoj jkbfVax 
@ ¶ywM dk iz;ksx u djsaA

8. izR;sd iz’u gy dhft,] bl ijh{k.k esa 
dksbZ udkjkRed vadu ugha gSA

uksV% bl iqfLrdk esa viuk vuqØekad fy[kus 
vkSj jQ dk;Z djus ds vfrfjDr vkSj 
dqN ugha fyf[k,A

bR;kfn 
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Directions : (Q. 1 to 4)

The numbers have been arranged under 
some rule. Based on that rule, which 
number will come in place of the 
question mark?

Q.1 196, 169, 144, 121, 100, ?

(1) 64

(2) 81

(3) 91

(4) 36

Q.2 3, 9, 27, 4, 16, 64, 5, 25, ?

(1) 50

(2) 75

(3) 100

(4) 125

Q.3 2, 5, 10, 17, 26, 37, 50, ?

(1) 65

(2) 60

(3) 55

(4) 75

Q.4 91, 76, 89, 78, 87, 80, 85, 82,?

(1) 83

(2) 84

(3) 85

(4) 86

PART-I  ¼Hkkx-I½
MENTAL ABILITY TEST

ckSf)d ;ksX;rk ijh{k.k
Questions: 1 to 90

funsZ’k ¼iz- 1 ls 4½

vad fdlh fu;e ds vkèkkj ij fy[ks x, gSaA 
mlh fu;e ds vkèkkj ij iz’uokpd fpUg ds 
LFkku ij dkSu lk vad vk,xk\

iz-1 196, 169, 144, 121, 100, ?

(1) 64

(2) 81

(3) 91

(4) 36

iz-2 3, 9, 27, 4, 16, 64, 5, 25, ?

(1) 50

(2) 75

(3) 100

(4) 125

iz-3 2, 5, 10, 17, 26, 37, 50, ?

(1) 65

(2) 60

(3) 55

(4) 75

iz-4 91, 76, 89, 78, 87, 80, 85, 82,?

(1) 83

(2) 84

(3) 85

(4) 86
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Directions : (Q. 5 to 7)

How many triangles are there in each 
figure?

Q.5

(1) 16

(2) 13

(3) 9

(4) 7

Q.6

(1) 11

(2) 13

(3) 15

(4) 17

Q.7

(1) 5

(2) 6

(3) 8

(4) 10

funsZ’k ¼iz- 5 ls 7½

fuEufyf[kr izR;sd vkd‘fr esa f=kHkqtksa dh la[;k 
fdruh gS\

iz-5

(1) 16

(2) 13

(3) 9

(4) 7

iz-6

(1) 11

(2) 13

(3) 15

(4) 17

iz-7

(1) 5

(2) 6

(3) 8

(4) 10
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Directions : (Q. 8 to 11)

A series of small letters are given which 
follow a certain pattern. However some 
letters are missing from the series. You 
have to find out the right set of letters 
from alternatives that can be inserted 
into the blanks of the series.

Q.8 a__b a__b__b__a__b

(1) a b a a b

(2) a b b a b

(3) a a b b a

(4) b b a b b

Q.9 b a__c b__b__b a b__

(1) a c b b

(2) b a c c

(3) b c a a 

(4) c a b b

Q.10 __a a__ b a__b b__a b__a a b

(1) a a a b b

(2) b a b a b

(3) b b a a b

(4) b b b a a

Q.11 c c c b b__a a __c c__b b b a a__c

(1) a c b c

(2) b a c a

(3) b a b a

(4) a c b a

funsZ’k ¼iz- 8 ls 11½

vaxzst+h o.kZekyk ds NksVs v{kjksa dh ,d J‘a[kyk 
nh xbZ gS] tks ,d fuf’pr Øe esa gSA dqN v{kj 
J‘a[kyk ls xk;c gSaA v{kjksa dk ,d lgh lewg 
uhps fn, x, fodYiksa esa ls Nk¡fV,] ftuls fjDr 
LFkkuksa dh iwfrZ dh tk ldsA

iz-8 a__b a__b__b__a__b

(1) a b a a b

(2) a b b a b

(3) a a b b a

(4) b b a b b

iz-9 b a__c b__b__b a b__

(1) a c b b

(2) b a c c

(3) b c a a 

(4) c a b b

iz-10 __a a__ b a__b b__a b__a a b

(1) a a a b b

(2) b a b a b

(3) b b a a b

(4) b b b a a

iz-11 c c c b b__a a __c c__b b b a a__c

(1) a c b c

(2) b a c a

(3) b a b a

(4) a c b a
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144

11 9

9801

15 6

?

916
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49
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?
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Directions : (Q. 12 to 16)

In each of the following figures, 
numbers are written according to some 
patterns and one number is missing, 
shown by question mark. Find the 
missing number that replaces the 
question mark.

Q.12

(1) 125

(2) 215

(3) 251

(4) 512

Q.13

(1) 1216

(2) 2250

(3) 8100

(4) 11036

funsZ’k ¼iz- 12 ls 16½

uhps nh xbZ izR;sd vkd‘fr esa ,d fuf’pr Øe 
vuqlkj dqN la[;k,¡ fy[kh xbZ gSA buesa ls ,d 
la[;k yqIr gS] ftls iz’u fpUg ls n’kkZ;k x;k 
gSA yqIr la[;k Kkr djks tks iz’u fpUg ds 
LFkku ij mi;qDr gksA

iz-12

(1) 125

(2) 215

(3) 251

(4) 512

iz-13

(1) 1216

(2) 2250

(3) 8100

(4) 11036

4 3

144

11 9

9801

15 6

?

916

3 4

49

2 3

?

1 5
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Q.14

(1) 3

(2) 4

(3) 5

(4) 6

Q.15

(1) 2

(2) 3

(3) 12

(4) 18

Q.16

(1) 5

(2) 6

(3) 7

(4) 8

169

1

64

3

52

2

49

2

4

?4

? 14

10

97

5

iz-14

(1) 3

(2) 4

(3) 5

(4) 6

iz-15

(1) 2

(2) 3

(3) 12

(4) 18

iz-16

(1) 5

(2) 6

(3) 7

(4) 8

169

1

64

3

52

2

49

2

4

?4

? 14

10

97

5

2

9

6

5 12

6

8

4

10 8

4

?

1

3 7

2

9

6

5 12

6

8

4

10 8

4

?

1

3 7
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Directions : (Q. 17 to 20)

In each of the following questions, 
among all the alternatives marked (1), 
(2), (3) and (4), select the one which 
satisfies the same condition of 
placement of the dot(s) as in Fig. (X)

Q.17

  (X)      (1)        (2) (3) (4)

Q.18

  (X)      (1)        (2) (3) (4)

Q.19

  (X)      (1)        (2) (3) (4)

Q.20

  (X)      (1)        (2) (3) (4)

funsZ’k ¼iz- 17 ls 20½

uhps fn, x, izR;sd iz’u esa pkj fodYiksa (1), 

(2), (3) o (4) esa ls dkSu lh vkd‘fr ,slh gS tks 
vkd‘fr (X) esa n’kkZ, x, fcanqvksa ds LFkku dh 
fLFkfr ls esy [kkrh gS\

iz-17

  (X)      (1)        (2) (3) (4)

iz-18

  (X)      (1)        (2) (3) (4)

iz-19

  (X)      (1)        (2) (3) (4)

iz-20

  (X)      (1)        (2) (3) (4)
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Directions : (Q. 21 to 23)

In each of these questions, choose the 
correct mirror image of the figure (X) 
from four alternatives given alongwith it.

Q.21

     (X)       (1)       (2)       (3)       (4)

Q.22

     (X)       (1)       (2)       (3)       (4)

Q.23

     (X)       (1)       (2)       (3)       (4)

Directions : (Q. 24 to 26)

In each of these questions, choose the 
correct water image of the figure (X) 
from the four alternatives given 
alongwith it.

Q.24

            (X)
      

(1)      (2)

       

(3)      (4)

funsZ’k ¼iz- 21 ls 23½

fn, x, iz’uksa esa ls vkd‘fr (X) dks niZ.k esa 
ns[kus ij dSlh fn[kkbZ nsxh] lkFk fn, x, pkj 
fodYiksa esa ls lgh mÙkj Nk¡fV,A

iz-21

     (X)       (1)       (2)       (3)       (4)

iz-22

     (X)       (1)       (2)       (3)       (4)

iz-23

     (X)       (1)       (2)       (3)       (4)

funsZ’k ¼iz- 24 ls 26½

fn, x, iz’uksa esa vkd‘fr (X) dks ikuh esa ns[kus 
ij dSlh fn[kkbZ nsxh] lkFk fn, x, pkj 
fodYiksa esa ls lgh mÙkj Nk¡fV,A

iz-24

            (X)
      

(1)      (2)

       

(3)      (4)
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Q.25

         (X)       (1)       (2)       (3)       (4)

Q.26

         (X)       (1)       (2)       (3)       (4)

Directions : (Q. 27 to 30)

In these questions, different positions of 
a dice are given. Answer the question 
followed by figures?

Q.27

Which number is opposite to 4?

(1) 2

(2) 1

(3) 3

(4) 6

Q.28

Which number is opposite to 3?

(1) 6

(2) 2

(3) 5

(4) 4

iz-25

         (X)       (1)       (2)       (3)       (4)

iz-26

         (X)       (1)       (2)       (3)       (4)

funsZ’k ¼iz- 27 ls 30½

bu iz’uksa esa ,d ikls dh fofHkUu fLFkfr;k¡ 
fn[kkbZ xbZ gSaA fp=kksa ds lkFk iwNs x, iz’uksa dk 
mÙkj nhft,A

iz-27

dkSu lk vad] vad 4 ds foijhr gS\

(1) 2

(2) 1

(3) 3

(4) 6

iz-28

dkSu lk vad] vad 3 ds foijhr gS\

(1) 6

(2) 2

(3) 5

(4) 4

2
4

3

4
6

5

1
5

6

3
5

1

3
2

5

6
3

1

5
2

4

3
5

1

2
4

3

4
6

5

1
5

6

3
5

1

3
2

5

6
3

1

5
2

4

3
5

1
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Q.29

Which number is opposite to 2?

(1) 4

(2) 3

(3) 5

(4) 1

Q.30

Which number is opposite to 6?

(1) 1

(2) 2

(3) 3

(4) 4

Directions : (Q. 31 to 35)

In each of the following question a 
related pair of words is followed by four 
pairs of alternatives. Select the pair that 
has a relationship similar to that in the 
original pair.

Q.31 Editor : Magazine : : ?

(1) Lesson : Writer

(2) Chair : Carpenter

(3) Director : Film

(4) Gardener : Field

iz-29

dkSu lk vad] vad 2 ds foijhr gS\

(1) 4

(2) 3

(3) 5

(4) 1

iz-30

dkSu lk vad] vad 6 ds foijhr gS\

(1) 1

(2) 2

(3) 3

(4) 4

funsZ’k ¼iz- 31 ls 35½

fuEufyf[kr izR;sd iz’u esa lelacaèkh ’kCnksa ds 
tksM+s ds i’pkr~ pkj tksM+s fn, x, gSaA fuEu 
fodYiksa esa ls ml tksM+s dks Nk¡fV, ftlesa ewy 
tksM+s ds vuq:i lEcUèk gSA

iz-31 lEiknd % if=kdk % % \

(1) ikB % ys[kd

(2) dqlhZ % dkjisaVj

(3) funsZ’kd % fQYe

(4) ekyh % [ksr [kfygku

2
3

4

3
5

4

1
3

2

6
2

4

2
3

4

3
5

4

1
3

2

6
2

4

1
4

2

1
5

4

6
3

2

5
6

4

1
4

2

1
5

4

6
3

2

5
6

4
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Q.32 Drama: Character : : ?

(1) Farming : Loan

(2) Game : Players

(3) North : Direction

(4) Classroom : Blackboard

Q.33 Reading : Knowledge : : ?

(1) Climb : Mountain

(2) Play : Football

(3) Worship : God

(4) Effort : Success

Q.34 Sun : Mars : :  ?

(1) School : Classroom

(2) Field : Well

(3) Earth : Moon

(4) Ship : Boat

Q.35 Storm : Wind : : ?

(1) Happiness : Deeds

(2) Tide : Moon

(3) Waves : Sea

(4) Anger : Weep

iz-32 Mªkek % ik=k % % \

(1) [ksrh % _.k

(2) [ksy % f[kykM+h

(3) mÙkj % fn’kk

(4) d{kk&d{k % ’;ke iê

iz-33  iBu % Kku % % \

(1) p<+uk % ioZr

(2) [ksyuk % QqVckWy

(3) iwtk % Hkxoku

(4) iz;kl % lQyrk

iz-34 lw;Z % eaxy xzg % % \

(1) fo|ky; % d{kk d{k

(2) [ksr % dwvka ¼uydwi½

(3) i‘Foh % pUnzek

(4) leqnzh tgkt % ukSdk

iz-35 rwQku % gok ¼iou½ % % \

(1) izlUurk % dk;Z

(2) TokjHkkVk % pUnzek 

(3) rjaxsa % leqnz

(4) Øksèk % jksuk 
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Q.36 Pointing to a boy, Meena says, "He 
is the son of my grandfather's only 
child." How is the boy related to 
Meena?

(1) Cousin

(2) Brother

(3) Uncle

(4) Nephew

Q.37 Point ing to a  lady in the 
photograph, Vandana told her 
friend, "She is the daughter of my 
mother." How is the Vandana 
related to the lady in the 
photograph?

(1) Sister

(2) Son

(3) Nephew

(4) Daughter

Q.38 Pointing to a boy in a photograph 
Raju says, "He is the son of my 
mother's only son." How is Raju 
related to that boy?

(1) Uncle

(2) Brother

(3) Cousin

(4) Father

Q.39 A man said, "This girl is the wife of 
the grand son of my mother." Who 
is the man of the girl?

(1) Grand Father

(2) Father 

(3) Father-in-Law

(4) Husband

iz-36 ehuk us ,d yM+ds dh vksj b’kkjk djrs 
gq, dgk] Þog esjs nknk ds ,d ek=k cPps 
dk yM+dk gSAß ml yM+ds dk ehuk ls 
D;k fj’rk gSA
(1) ppsjk HkkbZ
(2) HkkbZ
(3) pkpk ;k rkÅ
(4) Hkfrtk@Hkkutk

iz-37 oUnuk us QksVksxzkQ esa ,d efgyk dh 
vksj b’kkjk djrs gq, vius fe=k ls dgk] 
Þog esjh ekrk dh csVh gSAß QksVksxzkQ esa 
efgyk ls oUnuk dk D;k fj’rk gS\

(1) cgu
(2) csVk
(3) Hkfrtk
(4) csVh

iz-38 QksVks esa ,d yM+ds dh vksj b’kkjk djrs 
gq, jktw us dgk] Þog esjh ekrk ds ,d 
ek=k csVs dk csVk gSAß jktw dk ml yM+ds 
ls D;k lEcUèk gS\

(1) pkpk
(2) HkkbZ
(3) pkpk dk yM+dk
(4) firk

iz-39 ,d vkneh us dgk] Þ;g yM+dh esjh 
ekrk ds ikS=k dh iRuh gSAß ml yM+dh 
dk og vkneh dkSu yxrk gS\

(1) nknk
(2) firk
(3) llqj
(4) ifr
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Q.40 Q the Son of M was married to N, 

whose sister O was married to P, 

the brother of Q. How is O related 

to M?

(1) Sister

(2) Daughter-in-Law

(3) Sister-in-Law

(4) Daughter

Q.41 A man starts from a point and 

moves 3 km North, then turns to 

West and goes 2 km. He turns 

North and walks 1 km and then 

moves 5 km towards East. How far 

is he from the starting point?

(1) 11 km

(2) 5 km

(3) 10 km 

(4) 8 km

Directions : (Q. 42 to 43)

A vehicle starts from point B and runs 10 
km towards north, turns to its right and 
runs 15 km. It then turns to its right again 
and runs another 10 km to reach point C.

Q.42. After reaching point C, how far is 
the vehicle from the starting point 
B?

(1) 25 km

(2) 15 km

(3) 10 km

(4) 35 km

iz-40 M dk yM+dk Q gS vkSj mldh ’kknh N ls 
gqbZ Fkh] ftldh cgu O dh P ls ’kknh 
gqbZ Fkh] tks Q dk HkkbZ gSA O dk M ls D;k 
lEcUèk gS\
(1) cgu
(2) iq=koèkq
(3) HkkHkh
(4) csVh

iz-41 ,d vkneh ,d fcUnq ¼txg½ ls pyuk 
vkjEHk djrk gS vkSj mÙkj dh vksj 3 

fdeh- pyrk gS fQj og if’pe dh vksj 
eqM+dj 2 fdeh- tkrk gSA og mÙkj dh 
vksj 1 fdeh- pyrk gS vkSj fQj iwjc dh 
vksj ?kwe dj 5 fdeh- pyrk gSA og vius 
vkjfEHkd LFkku ls fdruk nwj gS\
(1) 11 fdeh-
(2) 5 fdeh-
(3) 10 fdeh-
(4) 8 fdeh-

funsZ’k ¼iz- 42 ls 43½

,d okgu B LFkku ls pyuk vkjEHk djrk gS 
vkSj 10 fdeh- mÙkj dh vksj nkSM+rk gS vkSj fQj 
vius nkfguh vksj eqM+dj 15 fdeh- nkSM+rk gSA 
;g fQj vius nkfguh vksj eqM+dj nwljh ckj 
10 fdeh- LFkku C ij igqapus ds fy, nkSM+rk gSA

iz-42 LFkku C ij igq¡pus ds ckn okgu 
vkjfEHkd LFkku B ls fdruk nwj gS\
(1) 25 fdeh-

(2) 15 fdeh-

(3) 10 fdeh-

(4) 35 fdeh-
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Q.43. After taking the second turn, in 
which direction will the vehicle be 
moving?

(1) North

(2) East

(3) South

(4) West

Directions : (Q. 44 to 45)

Shaloo ran 20 m to the east from his 
starting point A, then he turns left and 
ran for 15 m, then turned right and went 
25 m and then turned right again and 
went 15 m on point B.

Q.44 How far was Shaloo at last from the 
starting point A?

(1) 45 m

(2) 35 m

(3) 25 m

(4) 15 m

Q.45 In which direction he may be at last 
from his starting point A?

(1) East

(2) West

(3) North

(4) South

iz-43 nwljh ckj eqM+us ds ckn okgu fdl fn’kk 
esa tk jgk gksxk\

(1) mÙkj

(2) iwjc

(3) nf{k.k

(4) if’pe

funsZ’k ¼iz- 44 ls 45½

’kkyw vius vkjfEHkd LFkku A ls 20 eh- iwjc dh 
vksj nkSM+k] fQj og cka;h vksj eqM+rk gS vkSj  
15 eh- nkSM+rk gS fQj nka;h vksj eqM+k 25 eh- 
pyk vkSj fQj vUr esa nka;h vksj eqM+dj 15 eh-
pydj LFkku B ij x;kA

iz-44 ’kkyw vius vkjfEHkd LFkku A ls vUr esa 
fdruh nwj Fkk\
(1) 45 eh-

(2) 35 eh-

(3) 25 eh-

(4) 15 eh-

iz-45 vius vkjfEHkd LFkku A ls vUr esa fdl 
fn’kk esa og gks ldrk gS\

(1) iwjc

(2) if’pe

(3) mÙkj

(4) nf{k.k
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Directions : (Q. 46 to 50)

The Diagram shown below represents 
four types of literates which knows 
English, Hindi, Punjabi and Sanskrit. 
Based on above information solve the 
questions  given below.

Q.46 People who can read and write 
Hindi, Sanskrit and Punjabi are 
represented by 

(1) E and B

(2) K and F

(3) E and K

(4) J and K

Q.47 People who can read and write all 
languages are represented by

(1) J

(2) K

(3) E

(4) F

Q.48 People who can read and write all 
languages except Punjabi are 
represented by

(1) J

(2) K

(3) G

(4) F

funsZ’k ¼iz- 46 ls 50½

fuEu fp=k pkj izdkj dh lk{kjrk dks n’kkZrk gS 
ftlesa vaxzsth] fgUnh] iatkch vkSj laLd‘r gSA 
mijksDr lwpuk ds vkèkkj ij iz’u gy djus 
gsrq fn, x, gSaA

iz-46 yksx tks fgUnh] laLd‘r vkSj iatkch i<+ 
fy[k ldrs gSa] mUgsa izdV fd;k tkrk gS&
(1) E vkSj B

(2) K vkSj F

(3) E vkSj K

(4) J vkSj K

iz-47 yksx tks lHkh Hkk"kk,a fy[k o i<+ ldrs 
gSa] mUgsa izdV fd;k tkrk gS&

(1) J

(2) K

(3) E

(4) F

iz-48 yksx tks iatkch dks NksM+dj lHkh Hkk"kk,a 
fy[k&i<+ ldrs gSa mUgsa izdV fd;k tkrk 
gS&

(1) J

(2) K

(3) G

(4) F

Punjabi

Hindi

English 

Sanskrit

L

D

A

I

J
K

E

B

F

H

G

C

iatkch

fgUnh

vaxzsth

laLd‘r

L

D

A

I

J
K

E

B

F

H

G

C
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Q.49 People who cannot read and write 
English, Punjabi and Sanskrit are 
represented by
(1) A 

(2) B

(3) C

(4) D

Q.50 People who do not know English 
and Punjabi but are familiar with 
Hindi and Sanskrit both are 
represented by

(1) A

(2) B

(3) C

(4) E

Directions : (Q. 51 to 52)

A person has his wife, two married sons 
each having 5 children including two 
girls.

Q.51 How many female members are in 
the family?

(1) 5

(2) 6

(3) 7

(4) 8

Q.52 How many members are in the 
family?

(1) 15

(2) 16

(3) 17

(4) 18

iz-49 yksx tks vaxzsth] iatkch vkSj laLd‘r i<+ 
vkSj fy[k ugha ldrs gSa mUgsa izdV fd;k 
tkrk gS&
(1) A 

(2) B

(3) C

(4) D

iz-50 yksx tks vaxzsth vkSj iatkch ugha tkurs] 
ijUrq fgUnh vkSj laLd‘r nksuksa ls ifjfpr 
¼tkuus okys½ gSa mUgsa izdV fd;k tkrk 
gS&

(1) A

(2) B

(3) C

(4) E

funsZ’k ¼iz- 51 ls 52½

,d O;fDr ds ifjokj esa mldh iRuh] nks 
’kknh’kqnk csVs ,oa izR;sd csVs ds 5 cPps gSa] 
ftuesa nks&nks yM+fd;k¡ Hkh ’kkfey gSaA

iz-51 ifjokj esa dqy fdruh efgyk lnL; gSa\

(1) 5

(2) 6

(3) 7

(4) 8

iz-52 ifjokj esa dqy fdrus lnL; gSa\

(1) 15

(2) 16

(3) 17

(4) 18



? ?

? ?

? ?
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Directions : (Q. 53 to 56)

Complete the series of Problem Figures 
among the Answer Figures.

Q.53 Problem Figures

Answer Figures

(1) (2) (3) (4)

Q.54 Problem Figures

Answer Figures

(1) (2) (3) (4)

Q.55 Problem Figures

Answer Figures

(1) (2) (3) (4)

funsZ’k ¼iz- 53 ls 56½

leL;k vkd‘fr;ksa dh Js.kh dks mÙkj vkd‘fr;ksa 
esa ls iwjk djksA

iz-53 leL;k vkd‘fr;k¡

mRrj vkd‘fr;k¡

(1) (2) (3) (4)

iz-54 leL;k vkd‘fr;k¡

mRrj vkd‘fr;k¡

(1) (2) (3) (4)

iz-55 leL;k vkd‘fr;k¡

mRrj vkd‘fr;k¡

(1) (2) (3) (4)



? ?
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Q.56 Problem Figures

Answer Figures

(1) (2) (3) (4)

Directions : (Q. 57 to 61)

In these problems, there is a group of 
four figures marked serially 1 to 4. Out of 
these four figures three are similar in 
some way and one is different. Find the 
one which is different. 

Q.57

(1) (2) (3) (4)
Q.58

(1) (2) (3) (4)

Q.59

(1) (2) (3) (4)

Q.60

(1) (2) (3) (4)

Q.56 leL;k vkd‘fr;k¡

mÙkj vkd‘fr;k¡

(1) (2) (3) (4)

funsZ’k ¼iz- 57 ls 61½
bu leL;kvksa esa pkj vkd‘fr;ksa dk ,d lewg 
gSA bu vkd‘fr;ksa  dks 1 ls 4 rd Øekad fn;k 
x;k gSA pkj esa ls rhu vkd‘fr;k¡ fdlh izdkj 
ls leku gS vkSj ,d vkd‘fr fHkUuA buesa tks 
fHkUu gS mls Kkr djks&
iz-57

(1) (2) (3) (4)

iz-58

(1) (2) (3) (4)

iz-59

(1) (2) (3) (4)
iz-60

(1) (2) (3) (4)
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Q.61

(1) (2) (3) (4)

Q.62. If you are 24th in a row from either 
side, how many persons are there 
in the row? 

(1) 45 

(2) 46

(3) 47

(4) 48

Q.63.Dark is related to.........? 

(1) Day 

(2) Stars

(3) Moon

(4) Night

Q.64. Mobile phone is related to........?

(1) Temperature 

(2) Pressure

(3) Communication

(4) Reflection

Q.65.Television is related to? 

(1) Audio-visual aids 

(2) Audio aids

(3) Visual aids

(4) Echo sound process

Q.66. Bulb is related to? 

(1) Heat 

(2) Sound

(3) Magnetic Media

(4) Electricity

Q.61

(1) (2) (3) (4)

iz-62. ;fn ,d iafDr esa fdlh Hkh fljs ls fxuus 
ij vkidk LFkku 24 ok¡ gS rks iafDr esa 
fdrus O;fDr gS\

(1) 45 

(2) 46

(3) 47

(4) 48

iz-63. va/ksjs dk lEcU/k gS&

(1) fnu 

(2) rkjk x.k

(3) pUnzek

(4) jkr

iz-64. eksckby Qksu dk lEcU/k gS&
(1) rki 

(2) nkc
(3) lapkj
(4) ijkorZu

iz-65. Vsyhfotu dk lEcU/k gS&
(1) JO;&n‘’; lkexzh 
(2) JO; lkexzh
(3) n‘’; lkexzh
(4) izfr èofu izfØ;k

iz-66. cYc dk lEcU/k gS&
(1) m"ek 
(2) èofu
(3) pqEcdh; ekè;e
(4) fo|qr
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Q.67. Highway is related to ? 

(1) Transportation 

(2) Communication

(3) Civilization

(4) Mobilization

Directions : ( Q 68 to 71)

The following questions are based on 
the given letter series. Answer the 
questions keeping in view the given 
letter series.

E Y C I F O H Q AT J D L N R P M G V S Z K

Q.68. If FG is related to IV and TZ is 
related to AK then QV is related 
to:-

(1) OZ 

(2) HS

(3) HZ

(4) OS

Q.69. If DELHI is written as. TZJFY and 
MOST is written as RIGQ. Then in 
the same way PRANK will be 
written as-

(1) LNHDS 

(2) NLDHS

(3) NLSDH

(4) NLHDS

Q.70. If FT is coded as RS and MZ is 
coded as FA then which will be 
coded as ML?

(1) IQ 

(2) HC

(3) OC

(4) HO

iz-67. jktiFk dk lEcU/k gS&

(1) ifjogu 

(2) lapkj

(3) lH;rk

(4) xfr’khyrk

funsZ’k ¼iz- 68 ls 71 ½

fuEufyf[kr iz’u vaxzsth o.kZekyk dh v{kj 
J‘a[kyk ij vk/kkfjr gSaA J‘a[kyk dks è;ku esa 
j[krs gq, iz’uksa dk mÙkj nhft,A

E Y C I F O H Q AT J D L N R P M G V S Z K

iz-68. ;fn FG dk lEcU/k IV ls gks rFkk TZ 
dk lEcU/k AK ls gks rks QV dk lEcU/k 
gksxk&

(1) OZ 

(2) HS

(3) HZ

(4) OS

iz-69. ;fn DELHI dks TZJFY rFkk MOST 

dks RIGQ fy[kk tkrk gks rks PRANK 

dks fy[kk tk,xk&

(1) LNHDS 

(2) NLDHS

(3) NLSDH

(4) NLHDS

iz-70. ;fn FT dks RS ls rFkk MZ dks FA ls 
iznf’kZr fd;k tkrk gks rks fdldks ML 

ls iznf’kZr fd;k tk,xk\
(1) IQ 

(2) HC

(3) OC

(4) HO
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Q.71. Which group of letters will come 
in place of question mark?

EC, YF,  IQ, ?,  JM

(1) QL 

(2) OJ

(3) HD

(4) TP

Directions : ( Q 72 to 74)

The numbers/letters have been 
arranged under some rule. Based on 
that rule which number/letter will come 
in place of question mark?

Q.72.

(1) 60

(2) 75

(3) 70

(4) 20

Q.73.

(1) 100

(2) 120

(3) 96

(4) 90

iz-71. iz’uokpd fpUg ds LFkku ij dkSu lk 
v{kj lewg vk,xkA

EC, YF,  IQ, ?,  JM

(1) QL 

(2) OJ

(3) HD

(4) TP

funsZ’k ¼iz- 72 ls 74 ½

vad@v{kj fdlh fu;e ds vk/kkj ij fy[ks x, 
gSA mlh fu;e ds vk/kkj ij iz’uokpd fpUg ds 
LFkku ij dkSu lk vad@v{kj vk,xk\
Q.72.

(1) 60

(2) 75

(3) 70

(4) 20

Q.73.

(1) 100

(2) 120

(3) 96

(4) 90

Y

600

T

380

O

210

J

90

E

?

Y

600

T

380

O

210

J

90

E

?

B

4

C

18

D

48

E

?

F

180

B

4

C

18

D

48

E

?

F

180



L

145

K

122

C

10

?

17

H

65

L

145

K

122

C

10

?

17

H

65
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Q.74.

(1) I

(2) D

(3) J

(4) M

Q.75. How many cubes are there in the 
given figure?

(1) 48

(2) 47

(3) 46

(4) 45

Directions : ( Q 76 to 77)

Figure 'x' is embedded in one of the 
given four figures. Trace out the correct 
alternative.

Q.76

Q.74.

(1) I

(2) D

(3) J

(4) M

Q.75. nh xbZ vkd‘fr esa ?kuksa dh la[;k 
fdruh gS\

(1) 48

(2) 47

(3) 46

(4) 45

funsZ’k ¼iz- 76 ls 77 ½

fp=k 'x' dks fn, x, vU; pkj fp=kksa esa ls fdlh 
,d esa vr% LFkkfir fd;k x;k gSA mfpr 
fodYi NkafV,A
iz-76

(x) (1) (2) (3) (4) (x) (1) (2) (3) (4)



(x) (1) (2) (3) (4) (x) (1) (2) (3) (4)

Q.77

Directions : ( Q 78 to 81)

In the questions below, are given two 
statement followed by the conclusions 
numbered I and II. Decide which of the 
given conclusions logically follows from 
the two given statements disregarding 
commonly known facts. Give answer(1) 
if only conclusion I follows, (2) if only 
conclusion II follows, (3) if either I or II 
follows and (4) if neither I nor II follows.

Q.78 Statements: Some chairs are 
rabbits. Table is a 
chair.

Conclusion: I) Some rabbits are 
chairs.

II) Table is not a 
rabbit.

Q.79 Statements: All questions are 
answers. Some 
a n s w e r s  a r e  
problems.

Conclusion: I) Some problems 
are questions.

II) Some answers 
are questions.

Q.80 Statements: Some shoes are 
shirts. All shirts 
are caps.

Conclusion: I) Some shoes are 
caps.

II) Some shoes are 
not shirts.

24

iz-77

funsZ’k ¼iz- 78 ls 81 ½

fuEufyf[kr iz’uksa esa izR;sd esa nks oDrO;ksa ds 
i’pkr~ nks fu"d"kZ I o II fn, gSaA lkekU; Kkr 
rF;ksa dk è;ku u j[kdj fn, x, nks oDrO;ksa 
ij vk/kkfjr rkfdZd fu"d"kks± dks fu/kkZfjr djsaA 
;fn fu"d"kZ I ek=k fudys rks (1), II ek=k fudys 
rks (2), I vFkok II esa ls dksbZ ,d fudys rks (3),  

u I o u gh II fudys rks mÙkj (4) nhft,A

iz-78 oDrO; % dqN dqflZ;k¡ [kjxks’k gSaA est 
,d dqlhZ gSA

fu"d"kZ % I) dqN [kjxks’k dqflZ;k¡ gSA

II)  est [kjxks’k ugha gSA

iz-79 oDrO; % lHkh iz’u mÙkj gSaA dqN mÙkj 
leL;k,¡ gSaA 

fu"d"kZ % I)  dqN leL;k iz’u gSaA

II)  dqN mÙkj] iz’u gSaA
iz-80 oDrO; % dqN twrs deht gSaA lHkh 

dehtsa Vksfi;k¡ gSaA 

fu"d"kZ % I)  dqN twrs Vksfi;k¡ gSaA

II)  dqN twrs deht ugha gSaA
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Q.81   Statements: A l l  p l a n ts  a r e  
f lowers.  Some 
flowers are pens.

Conclusion: I) All plants are 
pens.

II) Some plants are 
pens.

Directions : ( Q 82 to 85)

In each of following questions three of 
four words/numbers in alternative 
series are same in any way and form a 
group which one of this group does not 
belong to it?

Q.82 (1) 23-32 

(2) 34-43

(3) 45-54

(4) 64-46

Q.83 (1) 5

(2) 7

(3) 9

(4) 11

Q.84 (1) BCEH

(2) ABCE

(3) PQSV

(4) EFHK

Q.85 (1) GEDC

(2) AZYX

(3) ONML

(4) TSRQ

iz-81 oDrO; % lHkh ikS/ks Qwy gSaA dqN Qwy 
iSu gSaA 

fu"d"kZ % I)  lHkh ikS/ks iSu gSaA

II)  dqN ikS/ks iSu gSaA

funsZ’k ¼iz- 82  ls 85 ½
fuEufyf[kr izR;sd iz’u esa pkj fodYiksa esa ls 
rhu fdlh izdkj ls ,d leku gSa rFkk ,d lewg 
dh jpuk djrs gSaA dkSu lk ,d fodYi ml 
lewg ds vUrxZr ugha vkrk gSA

Q.82 (1) 23-32 

(2) 34-43

(3) 45-54

(4) 64-46

Q.83 (1) 5

(2) 7

(3) 9

(4) 11

Q.84 (1) BCEH

(2) ABCE

(3) PQSV

(4) EFHK

Q.85 (1) GEDC

(2) AZYX

(3) ONML

(4) TSRQ
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Directions : ( Q 86 to 87)

In each of the following questions 
arrange the given words in a meaning ful 
sequence and then chose the 
appropriate sequence amongst the 
alternatives given below in each 
question.

Q.86 (a) Service 

(b) Advertisement

(c) Application from

(d) Appointment

(1) a, b, c, d 

(2) b, a, d, c

(3) d, a, b, c

(4) b, c, d, a

Q.87 (a) Dressing

(b) Wound

(c) Accident

(d) Doctor

(1) b, c, a, d 

(2) c, b, a, d

(3) c, b, d, a

(4) a, b, c, d

Q.88 Which diagram represents 
India, Haryana and Rohtak?

(1) (2) (3) (4)

funsZ’k ¼iz- 86 ls 87 ½

fuEufyf[kr izR;sd iz’uksa esa ’kCnksa dks vFkZiw.kZ 
Øe c

 

iz-86 (a) ukSdjh

(b) foKkiu
(c) vkosnu i=k
(d) fu;qfDr

(1) a, b, c, d 

(2) b, a, d, c

(3) d, a, b, c

(4) b, c, d, a

iz-87 (a) ejge iV~Vh

(b) pksV
(c) nq?kZVuk
(d) MkDVj

(1) b, c, a, d 

(2) c, b, a, d

(3) c, b, d, a

(4) a, b, c, d

iz-88 dkSu lh vkd‘fr Hkkjr] gfj;k.kk rFkk 
jksgrd dks iznf’kZr djrh gS\ 

(1) (2) (3) (4)

)rk  esa ltkb, rFkk izR;sd iz’u ds 
mijkUr fn, x, fodYi ls mi;qDr mÙkj 
Nk¡fV,A
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Q.89 In a certain language FOR 
stands for 'old is gold' ROT 
stands for 'Gold is Pure' and 
ROM stands for 'Gold is Costly' 
How is Pure old gold is costly' 
be written?

(1) TFROM 

(2) FOTRM

(3) FTORM

(4) TOMRF

Q.90 If (+) means (x), (-) means (+), (x) 
means (÷) and (÷) means (-) then 
9x4+2-5x10÷3 is equal to .

(1) 2 

(2) 3
3(3) 5 /4

l
(4) 21 /  3

iz-89 ;fn fdlh lkadsfrd Hkk"kk esa 'old is 

gold' dks FOR ls 'Gold is Pure' dks 
ROT ls rFkk gold is costly  dks 
ROM ls iznf’kZr fd;k tkrk gks rks] 
Pure old gold is costly dks fdl 
izdkj iznf’kZr fd;k tk,xk\

(1) TFROM 

(2) FOTRM

(3) FTORM

(4) TOMRF

iz-90 ;fn (+) ls rkRi;Z (x)

;fn (-) ls rkRi;Z (+)

;fn (x) ls rkRi;Z (÷)

;fn (÷) ls rkRi;Z (-) gks rks

9x4+2-5x10÷3 cjkcj gS

(1) 2 

(2) 3
3

(3) 5 /4

l
(4) 21 /3
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PART-II  ¼Hkkx-II½
SCHOLASTIC APTITUDE TEST

’kSf{kd {kerk ijh{k.k
Questions: 91 to 180

Physics

Q.91 A bat can detect its obstacle in 
his path by

(1) viewing

(2) listening

(3) smelling 

(4) detecting reflected sound

Q.92 Ice glacier always melts

(1) from upper layer 

(2) from lower layer

(3) all around

(4) from middle layer

Q.93 A point object is placed in the 
principle axis is a concave 
mirror quite far away from the 
pole and moved at a constant 

-1
speed of 1ms  towards the pole. 
Its image also moves. It is found 
that the object and the image 
cross each other at a distance 60 
cm from the pole. From the 
given detail in passage, the focal 
length of the mirror is

(1) 30 cm

(2) 40 cm

(3) 50 cm

(4) 60 cm

Physics

iz-91 pexknM+ vius jkLrs esa vkus okys 
vojks/kksa dk irk yxkrk gS
(1) ns[kdj
(2) lqudj
(3) xa/k dk vkHkkl djds 
(4) ijkofrZr /ofu dk vkHkkl djds

iz-92 cQZ ds Xysf’k;j ges’kk fiNyuk ’kq: 
gksrs gSaA

(1) Åijh lrg ls
(2) fupyh lrg ls
(3) lHkh lrg ls ,d lkFk
(4) chp dh lrg ls

iz-93 vory niZ.k ds eq[; v{k ij fcUnq 
-1 oLrq dks niZ.k ds /kzqo dh vksj 1ms ds 

leku osx ls pyk;k tkrk gSA oLrq dk 
izfrfcEc Hkh pyrk gSA ;g ik;k tkrk gS 
fd oLrq vkSj mldk izfrfcEc /kzqo ds 
60 lseh dh nwjh ij feyrs gSaA igjs esa 
fn, O;k[;ku vuqlkj niZ.k dh Qksdl 
nwjh gksxh

(1) 30 lseh
(2) 40 lseh
(3) 50 lseh
(4) 60 lseh
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Q.94 If two media has equal refractive 
index and light is incident 
normally at one of the boundary, 
which of the following options 
s h o w s  c o r r e c t  f o r m  o f  
refraction.

Q.95 In the following question, a 
statement of assertion (A) is 
given and followed by a 
corresponding statement of 
reason (R) just below it. Of the 
following statements, choose 
the correct answer.

(A) An iron needle is attracted 
to the ends of a bar magnet 
but not to the middle region 
of the magnet.

(R) Material making up the ends 
of a bar magnet is different 
from that of middle region.

(1) If both assertion and reason 
are true, reason is the correct 
explanation of assertion.

(2) If both assertion and reason 
are true, reason is not the 
co r rec t  exp lana t ion  o f  
assertion.

(3) Assertion is true but reason is 
false

(4) Both assertion and reason are 
false.

iz-94 ;fn nks ek/;eksa dk viorZukad ,d 
leku gks rFkk izdk’k dh fdj.k fdlh 
,d lhek ij yEcor vkifrr gks] buesa 
ls dkSu lk fodYi viorZu dks Bhd 
izdkj ls n’kkZrk gSA

iz-95 fuEu iz’u esa ,d iz’u dFku (A) ds 
lkFk mldk rdZ (R) mlds uhps fn;k 
x;k gSA uhps fn, fodYiksa esa ls lgh 
mÙkj NkafV,A

dFku (A) yksgs dh lqbZ] fdlh NM+ 
pqEcd ds fljs ij vkdf"kZr gksrh gS] 
mlds e/; Hkkx esa ughaA

rdZ (R)  fljksa dks cukus okyk 
inkFkZ] e/; {ks=k ds inkFkZ ls fHkUu gSA

(1) ;fn nksuksa dFku o rdZ Bhd gks] rc 
rdZ dFku dh lgh O;k[;k djrk gSA

(2) ;fn nksuksa dFku o rdZ Bhd gks rc 
rdZ dFku dh Bhd O;k[;k ugha 
djrkA

(3) dFku Bhd gS ijUrq rdZ xyr gSA

(4)  nksuksa dFku o rdZ xyr gSaA

dFku

rdZ 

(3) (3)(4) (4)

µ1

µ2

µ1

µ2

,

(1) (2)

>

µ1

µ2

>
>

µ1

µ2>

,
,

>
> µ1

µ2

>

>

µ1

µ2

µ1

µ2>

µ1

µ2>

µ1

µ2

µ1

µ2

,

(1) (2)

>

µ1

µ2

>
>

µ1

µ2>

,
,

>
> µ1

µ2

>

>

µ1

µ2

µ1

µ2>

µ1

µ2>
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iz-96 ;fn ge vius fo|qr midj.kksa dks 
vksoj yksfMax@’kkVZ lfdZV ls lqjf{kr 
j[kuk pkgrs gSa] rks lqj{kk dk lcls 
egRoiw.kZ mik; gS

(1) Hkw laidZ
(2) ¶;wt dk iz;ksx
(3) LVscykbZtj dk iz;ksx
(4) fo|qr ehVj dk

iz-97 >wys ij >wyrs ,d cPps dh xfrt mtkZ 
ds le; ds lkFk ifjorZu dks fuEu esa 
dkSu lk fp=k lgh fu:fir djrk gSA

 

 

iz-98 uhps fn, fp=k esa /kkjk ekih dk ikB~;kad 
fdruk izHkkfor gksxk ;fn cYc B  ds 1

lkFk lekarj Øe esa oSlk gh cYc B  2

tksM+ fn;k tk,A L=kksr dk foHkokarj 
,d leku j[kk tkrk gSA

(1) ikB;kad vk/kk jg tk,xk 

(2) ikB;kad igys ls nksxquk gks tk,xk

(3) ikB;kad ij dksbZ Hkh izHkko ugh 
iM+sxk

(4) ikB;kad pkj xq.kk gks tk,xkA

Q.96 If we want to keep our electrical 
appliances safe against over 
loading/short circuit, the most 
important method of protection 
will be.

(1) Earthing

(2) Use of fuse

(3) Use of stabliser

(4) Use of electric meters

Q.97 For a child sitting in a swing, 
w h i c h  o f  t h e  f o l l o w i n g  
represents variation of kinetic 
energy with time.

 

Q.98 How will the reading in ammeter 
of a figure given below be 
affected if another identical bulb 
B  is connected in parallel with 2

bulb B . The voltage in the mains 1

is maintained at a constant 
value.

(1) The reading will be reduced to 
half 

(2) The reading will be double of 
previous one

(3) The reading will not be 
affected

(4) The reading will be increased 
4 times.

A

B1
B2Mains

A

B1
B2Mains

t

t

(2)

KE

KE

KE

(4)

t

(1)

(3)

KE

t

t

t

(2)

KE

KE

KE

(4)

t

(1)

(3)

KE

t
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iz-99 dkWye I o dkWye II essa  rF;ksa dk lgh 
feyku djsaA
dkWye I  dkWye II 

A. fizTe ij P. okrkoj.k esa ikuh
fxjus okyk ds cwanksa }kjk 
’osr izdk’k o.kZ&fo{ksi.k

B. nks fizTe Q. ’osr izdk’k
ftuds 
’kh"kZ 
,d nwljs 
ds lkis{k mYVs 
j[ks gksa

C. fizTe ij R. dksbZ  
ystj dh ugha
fdj.k vkifrr 
djus ij

D. bUn/z ku"q k S.  idz k’k dk 
 

(1) A-P, B-Q, C-R, D-S

(2) A-P, B-Q, C-R, D-P

(3) A-P, B-Q, C-S, D-P

(4) A-S, B-Q, C-R, D-P

iz-100 ,cksukbZV dh nks NM+s igyh A dks 
iksyhFkhu ls rFkk nwljh B dks Åuh 
oL=k ls jxM+dj ,d /kukosf’kr 
fo|qrn’khZ ds lehi Øe’k% yk;k x;kA 
fo|qrn’khZ ds i=kksa ij iM+us okyk 
lHkkafor izHkko gksxkA

A  ds lkFk B  ds lkFk
(1) c<+uk ?kVuk
(2) c<+uk c<+uk
(3) ?kVuk ?kVuk
(4) ’kwU; ’kwU;

dks.k 

o.kZ&fo{ksi.k

o.k&Z  
  fo{kis .k

Q.99 Match the entries of column I 
with that of column II.

Column I Column II

A. White light P. dispersion by
incident in water droplets
prism in atmosphere

B. Two prism Q. white light
placed with 
refracting 
angle opposite 
with respect to 
another

C. Laser light R. No dispersion
incident on 
prism

D. Rainbow S. dispersion 
of light

(1) A-P, B-Q, C-R, D-S

(2) A-P, B-Q, C-R, D-P

(3) A-P, B-Q, C-S, D-P

(4) A-S, B-Q, C-R, D-P

Q.100 Two ebonite rods, one A rubbed 
with polythene and other B with 
wool are brought near the 
positively charged electroscope 
one by one. The possible effect 
on leaves of electroscope will be

With A With B

(1) Increases Decreases

(2) Increases Increases

(3) Decreases Decreases

(4) Zero Zero
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iz-101 vkidks fdlh can crZu esa vKkr oLrq 
can djds fn;k tkrk gSA leku :i ls 
Å"ek nsus ij vki rkieku o le; esa 
;fn uhps fn[kk;k x;k xzkQ izkIr djrs 
gks] rc xzkQ esa nks {kSfrt js[kk,a 
fn[kk,axh

(1) Bksl oLrq

(2) rjy oLrq

(3) xSl

(4) rjy o xSl

iz-102 oLrq dks B.Mk fd;k tk ldrk gSA

(1) pkyu }kjk

(2) laogu }kjk

(3) fofdj.k }kjk

(4) mijksDr lHkh }kjk

iz- 103 12g dkcZu dk] vkWDlhtu dh leqfpr 
ek=kk esa ngu djus ij CO dh ek=kk 2 

cusxh

(1) 32 g

(2) 44 g

(3) 88 g

(4) 22 g

Q.101 You are given a closed metal 
container with an unknown 
substance. By supplying heat at 
constant rate and plotting a 
graph between temperature and 
time, if you get a graph as 
shown, then two horizontal lines 
indicates

(1) Solid substance

(2) liquid substance

(3) gas

(4) liquid and gas

Q.102 A body can be cooled by

(1) Conduction 

(2) Convection

(3) Radiation

(4) All of the above

Q.103 When 12 g of carbon is 
completely burnt in sufficient 
quantity of oxygen, the amount 
of CO  formed is  2

(1) 32 g

(2) 44 g

(3) 88 g

(4) 22 g

Temp

Time

rkieku

le;
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Q. 104 A plastic which is bad conductor 
of heat and electricity is used to 
manufacture electrical switches 
and handles of utensils. The 
plastic may be

(1) P. V. C.

(2) Malemine

(3) Polyethene

(4) Bakelite

Q. 105 W h i c h  o f  t h e  f o l l o w i n g  
electronic configuration can be 
of a metal  

(1) 2, 8, 5

(2) 2, 8, 4

(3) 2, 8, 1

(4) 2, 6

Q. 106 Reaction 2H O   2H O + O is 2 2 2 2 

an example of

(1) Combination reaction

(2) Neutralization  reaction

(3) Decomposition reaction

(4) Displacement reaction

Q.107 Solution of calcium hydroxide 
o n  a d d i n g  a  d r o p  o f                 
phenolphthalein indicator turns 

(1) Pink

(2) Red

(3) Yellow

(4) Blue

iz- 104 ,d IykfLVd tks m"ek o fo|qr dk 
dqpkyd gS] fo|qr fLop o cjruksa ds 
gSaMy cukus ds dke vkrk gSA ;g 
IykfLVd gks ldrk gS

(1) ih- oh- lh-

(2) esykekbu

(3) iksyhbFkhu

(4) csdkykbV

iz- 105 fuEu esa ls dkSu lk bySDVªksfud 
foU;kl ,d /kkrq dk gks ldrk gS

(1) 2, 8, 5

(2) 2, 8, 4

(3) 2, 8, 1

(4) 2, 6

iz- 106 vfHkfØ;k 2H O   2H O + O  2 2 2 2

fuEu esa ls fdl dk mnkgj.k gS

(1) la;kstu vfHkfØ;k

(2) mnklhuhdj.k vfHkfØ;k

(3) vi?kVu vfHkfØ;k

(4) foLFkkiu vfHkfØ;k

iz- 107 dSfYl;e gkbMªksDlkbM+ ds foy;u esa 
Qhuksy¶Fksyhu lwpd dh ,d cwan 
Mkyus ij foy;u dk jax gks tkrk gS 

(1) xqykch

(2) yky

(3) ihyk

(4) uhyk
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Q.108 Which allotrop of carbon is used 
as an adsorbent

(1) Coal

(2) Diamond

(3) Graphite

(4) Charcoal

Q.109 Which of the following metal 
does not react at all with water  

(1) Ni

(2) Mg

(3) Zn

(4) Ca

Q.110 Oxidation process involves 

(1) gain of electrons

(2) Loss of electrons

(3) Addition of hydrogen

(4) Removal of oxygen

Q.111 Milk of magnesia  is 

(1) Colloid

(2) True solution

(3) Homogenous mixture

(4) Suspension

Q.112 Which out of following is not an 
organic acid

(1) Formic acid

(2) Citric acid

(3) Ethanoic acid

(4) Carbonic acid

iz- 108 dkcZu dk dkSu lk vij:i vo’kks"kd 
ds :i esa iz;ksx fd;k tkrk gS

(1) dks;yk

(2) ghjk

(3) xzsQkbV

(4) pkjdksy

iz- 109 fuEu esa ls dkSu lh /kkrq ty ls dksbZ 
Hkh vfHkfØ;k ugha djrh

(1) Ni

(2) Mg

(3) Zn

(4) Ca

iz- 110 vkWDlhdj.k fØ;k esa gksrk gS

(1) bySDVªksu izkIr djuk

(2) bySDVªksu [kksuk

(3) gkbMªkstu dk la;ksx

(4) vkWDlhtu dk gVkuk

iz- 111 feYd vkWQ eSfXuf’k;k gS
(1) dksykbM

(2) foy;u

(3) lekaxh feJ.k

(4) fuyacu

iz- 112 fuEu esa ls dkSu lk dkcZfud vEy 
ugha gS

(1) Qksjfed vEy

(2) flfVªd vEy
(3) ,Fkksuksbd vEy
(4) dkcksZfud vEy
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Q.113 Match the Column

Column-1 Column-2

A. Acidic salt I. NaCl

B. Basic salt II. Na CO2 3

C. Neutral salt III. NH Cl4

(1) A-I, B-III, C-II

(2) A-II, B-III, C-I

(3) A-III, B-II C-I

(4) A-III, B-I, C-II

Q114 Which of the following is a 
Prokaryotic cell?

(1) Spirogyra 

(2) Amoeba

(3) Rhizopus 

(4) Escherichia Coli

Q.115 Which of the following is not a 
viral disease?

(1) Chicken Pox 

(2) Polio

(3) Hepatitis A 

(4) Tuberculosis

Q.116 Main cause of soil erosion is

(1) Afforestation 

(2) Less rain

(3) Thinning of Ozone layer 

(4) Deforestation

iz- 113 dkWye dk feyku djsa

dkWye & 1 dkWye & 2

A. vEyh; yo.k I. NaCl

B. {kkjh; yo.k II. Na CO2 3

C. mnklhu yo.k III. NH Cl4

(1) A-I, B-III, C-II

(2) A-II, B-III, C-I

(3) A-III, B-II C-I

(4) A-III, B-I, C-II

iz-114  fuEu esa ls dkSu izksdSfj;ksfVd 
dksf’kdk gS\

(1) Likbjksxk;jk

(2) vehck

(3) jkbtksil 

(4) blpjfp;k dksyh

iz-115 fuEu esa ls dkSu lh fo"kk.kq tfur 
chekjh ugha gS\

(1) pspd

(2) iksfy;ks

(3) fgisVkbfVl A

(4) risfnd

iz-116 Hkwfe dVko dk eq[; dkj.k gS 

(1) oujksi.k

(2) de o"kkZ

(3) vkstksu irZ dk iryk gksuk

(4) ou dVkbZ
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Q.117 Match the diseases of column A 
with their causing organism in 
column B

Column A Column B

a. Measles i. Bacteria

b. Cholera ii. Virus

c. Malaria iii. Protozoa

d. Rust of wheat iv. Fungus

(1) a -iv, b-iii, c-i, d-ii

(2) a -ii, b-i, c-iii, d-iv

(3) a -i, b-iii, c-iv, d-ii

(4) a -i, b-ii, c-iii, d-iv

Q.118 Algin is taken from

(1) Bacteria 

(2) Algae 

(3) Fungi 

(4) Protozoa

Q.119 The process of removing 
unwanted plants from the fields 
is called

(1) Sowing 

(2) Harvesting

(3) Irrigation 

(4) Weeding

Q.120 Which of the following releases 
the toxic substance 'tuberculin'

(1) Bacteria 

(2) Virus

(3) Algae 

(4) Fungi

iz-117 dkWye A dh chekfj;ksa dk dkWye B esa 
fy[kh xbZ muds dkjd thoksa ls 
feyku djsa

dkWye A dkWye B

a. [kljk i. thok.kq
b. dkWyjk ii. fo"kk.kq
c. eysfj;k iii. izksVkstksvk
d. xsagw dh jLV iv. QQwan

(1) a -iv, b-iii, c-i, d-ii

(2) a -ii, b-i, c-iii, d-iv

(3) a -i, b-iii, c-iv, d-ii

(4) a -i, b-ii, c-iii, d-iv

iz-118 ,yfxu fuEu esa ls fudkyk tkrk gSA

(1) thok.kq 

(2)  ’kSoky

(3) QQwan 

(4)  izksVkstksvk

iz-119 [ksr ls vokafNr ikS/kksa dks gVkus dh 
izfØ;k dgykrh gSA

(1) cqvkbZ 

(2) dVkbZ 

(3) flapkbZ 

(4) [kjirokj fu;a=k.k

iz-120 fuEu esa ls fdlds }kjk gkfudkjd 
¼fo"kSyk½ inkFkZ ^V;wcjD;wfyu* NksM+k 
tkrk gS\

(1) thok.kq 

(2) fo"kk.kq

(3) ’kSoky 

(4) QQawn
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Q.121 Which nutrient increases in soil 
due to crop rotation?

(1) Zinc 

(2) Sulphur 

(3) Nitrogen 

(4) Calcium

Q. 122 Which of the following method 
of irrigation helps in maximum 
conservation of water?

(1) Chain pump 

(2) Rahat

(3) Drip system 

(4) Sprinkler system

Q.123 The structure bearing 'genes' in 
the cell are called as

(1) Nucleolus 

(2) Nucleus

(3) Chromosomes 

(4) Ribosomes

Q. 124 Match column A with column B

Column A Column B

i. Gram seed a. Urea

ii. Rice (Paddy) b. Karif crop

iii. Fertilizer c. Silos

iv. Storage d. Rabi crop

which is the most appropriate 
combination

(1) i-a, ii-b, iii-c, iv-d

(2) i-d, ii-c, iii-b, iv-a

(3) i-d, ii-b, iii-a, iv-c

(4) i-b, ii-a, iii-c, iv-d

iz-121 Qly pØ.k ls feêh esa fdl iks"kd 
dh ek=kk c<+ tkrh gS\
(1) ftad 
(2) lYQj
(3) ukbVªkstu 
(4) dSfY’k;e

iz-122 fuEufyf[kr esa ls fdl fof/k }kjk 
flapkbZ djus ls ikuh dk lokZf/kd 
laj{k.k gksrk gS\
(1) psu iai 
(2) jgV
(3) fMªi la;a=k
(4) fNM+dko la;a=k

iz-123 dksf’kdk esa thUl ds /kkjd dks dgk 
tkrk gS

(1) dsfUædk 

(2) dsUæd

(3) xq.klw=k 

(4) jkbckslksEl

iz-124 dkWye A dk feyku dkWye B ls djks

dkWye A dkWye B

i. puk a. ;wfj;k

ii. pkoy ¼/kku½ b. [kjhQ Qly

iii. moZjd c. lkbyks

iv. HkaMkj.k d. jch dh Qly

mi;qDr fodYi dkSu lk gSA

(1) i-a, ii-b, iii-c, iv-d

(2) i-d, ii-c, iii-b, iv-a

(3) i-d, ii-b, iii-a, iv-c

(4) i-b, ii-a, iii-c, iv-d
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Q. 125 Out of 23 pair chromosomes in 
man how many chromosomes 
a re  respons ib le  fo r  sex  
determination?

(1) 2 

(2) 4

(3) 1

(4) 8

Q.126 Choose the rational number 
which does not lie between 
rational  numbers      and

(1)

(2)

(3)

(4)

Q. 127 150 is what percent of 30?

(1) 5%

(2) 20%

(3) 200%

(4) 500%

Q. 128 In the f igure PQRS is  a  
parallelogram,  the value of y - x is 

(1) 30°

(2) 35°

(3) 40°

(4) 70°

iz-125 euq"; ds 23 tksMs+ xq.klw=kksa esa ls 
fdrus xq.klw=k }kjk fyax fu/kkZj.k 
gksrk gS\

(1) 2 

(2) 4

(3) 1

(4) 8

iz-126 dkSu lh ifjes; la[;k] ifjes; 
la[;kvksa   rFkk   ds chp ugha gSA

(1)

(2)

(3)

(4)

iz-127 30 dk 150 fdrus izfr’kr gS\

(1) 5%

(2) 20%

(3) 200%

(4) 500%

iz- 128 fp=k esa PQRS  ,d lekukUrj prqHkqZt 
gS\ y - x dk eku gksxk\

(1) 30°

(2) 35°

(3) 40°

(4) 70°

47
75

50
75

46
75

49
75

47
75

50
75

46
75

49
75

3
5

3
52

3

2
3

Q

RS

P
14

°0

x°

2y°

Q

RS

P
14

°0

x°

2y°
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Q.129 At the rate of m meters per s 
seconds, how many meters does 
a cyclist travel in x minutes?

(1)

(2)

(3)

(4)

Q.130 If x+5>2 and x-3 <T, then the value 
of x lie between which of the 
following pair of numbers?

(1) -3 and 10

(2) -3 and 4

(3) 2 and 7

(4) 3 and 10

Q.131 A square mirror has a diagonal 
measuring 20 inches, what is the 
approximate perimeter of the 
mirror, (in inches)?

(1) 40

(2) 60

(3) 80

(4) 100

Q.132 In the given figure if, LCOD=80° 
LCBO = 20°, then the measure of 
LCOA is 

(1) 30°

(2) 40°

(3) 50°

(4) 45°

iz-129 ,d lkbfdy pykus okyk m ehVj izfr 
s lsdaM dh nj ls nwjh r; djrk gS] x 
feuV esa og nwjh r; djsxk\

(1)

(2)

(3)

(4)

iz-130 ;fn x+5>2 rFkk x-3 <T gks rks x dk 
eku fuEu fyf[kr ea fdu la[;kvksa ds 
eè; gksxk\
(1) -3 vkSj 10

(2) -3 vkSj 4

(3) 2 vkSj 7

(4) 3 vkSj 10

iz-131 ,d oxkZdkj niZ.k dk fod.kZ 20 bap 
gS] bldk fudVre ifjeki gksxk ¼bZpksa 
esa½\

(1) 40

(2) 60

(3) 80

(4) 100

iz-132 ;fn fn, x, fp=k esa LCOD=80°      

LCBO = 20°, rks LCOA dk eki gksxk\

(1) 30°

(2) 40°

(3) 50°

(4) 45°

m
sx

mx
s

60m
sx

60mx
s

m
sx

mx
s

60m
sx

60mx
s

 O 
 

D

C

A B
 O 
 

D

C

A B
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22  3 cm

2   3 cm

3
2

2cm

3
2

2cm

22  3 lseh
2   3 lseh

3
2

2lseh

3
2

2lseh

Q.133 The product of integers w, x, y 
and z is 770 and if 1 < w < x < y < z 
than the value of w + z is

(1) 13
(2) 16
(3) 18
(4) 21

Q.134 The cube root of                 is

(1)

(2)

(3)

(4)

Q.135 If the altitude of an equilateral 
triangle is  3 cm then its area is

(1)

(2)

(3)

(4)

Q.136 The positive integer n is divided 

by 25, if   , is greater than 25, 

which of the following could be 

the value of         ?
(1) 22

(2) 23

(3) 24

(4) 26

iz- 133 ;fn iw.kk±dksa w, x, y rFkk z dk 
xq.kuQy 770 gS rFkk 1 < w < x < y < z 

rks w + z dk eku gksxk\

(1) 13
(2) 16
(3) 18
(4) 21

iz-134     dk ?kuewy gksxk

(1)

(2)

(3)

(4)

iz-135 ;fn leckgq f=kHkqt ds ’kh"kZyac dh 
yackbZ 3 lseh gks rks bl f=kHkqt dk 
{ks=kQy gksxk\

(1)

(2)

(3)

(4)

iz- 136 /ku iw.kk±d n dks 25 ls Hkkx fd;k x;k 
gSA ;fn  n > 25  rks    dk eku gksxk\

(1) 22

(2) 23

(3) 24

(4) 26

-2197
 9261

-2197
 9261

-23
 19

-13
 21

-13
 11

-23
 11

-23
 19

-13
 21

-13
 11

-23
 11

n
25

n
25

n
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Q. 137 If n is a positive integer then 
n (n + 1) ( n + 2) is

(1) Even only when n is even

(2) Even only when n is odd

(3) Odd whenever n is odd

(4) Divisible by 4 whenever n is 
even.

Q.138 Mary's income is 60% more than 
Tim's income and Tim's income is 
40% less than John's income 
what percent of John's income is 
Mary's income?

(1) 124%

(2) 120%

(3) 96%

(4) 80%

Q.139 In the fig shown, the value of v + x 
+ y + z + w is 

(1) 45°

(2) 90°

(3) 180°

(4) 360°

iz- 137 ;fn ,d n ?kukRed iw.kk±d gS rks 
n (n + 1)  ( n + 2) gksxk\

(1) le dsoy rc tc n le gksxk

(2) le dsoy tc n fo"ke gksxk

(3) fo"ke tc n fo"ke gksxk

(4) 4 ls foHkkftr tc n ,d le 
la[;k gksxh

iz-138 esjh dh vk; fVe dh vk; ls 60% 

vf/kd gSA ijarq fVe dh vk; tkWu dh 
vk; ls 40% de gS rks tkWu dh vk; esjh 
dh vk; dk fdrus izfr’kr gS\

(1) 124%

(2) 120%

(3) 96%

(4) 80%

iz-139 fn, x, fp=k esa v + x + y + z + w  dk 
eku gkssxk\

(1) 45°

(2) 90°

(3) 180°

(4) 360°

z

v

x

y

w

z

v

x

y

w



42

1
a

1
a

iz- 140 

    x        x

dks ljyhdj.k djus ij eku gksxk

(1) a

(2)

(3)  1

(4) -1

iz-141 fuEufyf[kr esa ls dkSu lk dFku lR; 
ugha gS\ 

(1) lHkh le prqHkqZt irax gksrs gSaA

(2) lHkh oxZ vk;r gksrs gSaA

(3) lHkh leyac prqHkZt vk;r gksrs gSA

(4) vk;r ds fod.kZ leku gksrs gSaA

2 2iz-142       (2x + 3y)  - (2x - 3y)  

    leku gS

(1) 6 x y

(2) 12 x y

(3) 18 x y

(4) 24 x y
2iz-143 x  + x - 272, ds xq.ku[kaM djus ij] 

gesa izkIr gksrk gSA

(1) (x - 16) (x - 17)

(2) (x + 16) (x - 17)

(3) (x -16) (x + 17)

(4) (x - 8)  (x + 34)

Q.140 The Value of 

  x        x

on simplification is

(1) a

(2)

(3)  1

(4) -1

Q.141 Which one of the following 
statements is not true?

(1) All rhombuses are kites.

(2) All squares are rectangles.

(3) All trapeziums are rectangles.

(4) Diagonals of rectangle are 
equal.

2 2Q.142        (2x + 3y)  - (2x - 3y)

       is equal to

(1) 6 x y

(2) 12 x y

(3) 18 x y

(4) 24 x y

2Q.143 On factoring, x  + x - 272, we get

(1) (x - 16) (x - 17)

(2) (x + 16) (x - 17)

(3) (x - 16) (x + 17)

(4) (x - 8)  (x + 34)

1
14311a

13a( (
1

14311a
13a( (

1
9113

a
7a( (

1
9113

a
7a( (

1
777

a
11a( (

1
777

a
11a( (
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iz- 144 jfo ds firk th dh vk;q jfo dh nknh 
dh vk;q dk nks frgkbZ gS vkSj jfo dh 
vk;q dk nks xquk gSA rhuksa dh vk;q dk 
;ksx 132 o"kZ gSA jfo dh vk;q o"kks± esa 
D;k gS\

(1) 21

(2) 22

(3) 23

(4) 19

iz-145 ,d O;fDr us 5000 #i, cSad esa tek 
djk, vkSj 2 o"kZ esa 600 #i, C;kt 
vftZr fd;kA mruh gh vof/k esa mlh 
C;kt nj ls 8000 #i, tek djus ij 
fdruk C;kt vftZr gksxk

(1) ` 960

(2) ` 900

(3) ` 1200

(4) ` 1600

iz-146  vgen ’kkg vCnkyh us Hkkjr ij 
fuEu esa ls dc vkØe.k fd;k\

(1) 1526 - 1530 

(2) 1530 - 1540

(3) 1660 - 1696 

(4) 1748 - 1761

iz-147 ve‘rlj dh laf/k fdu ds e/; gqbZ\

(1) flD[k vkSj fczfV’k bZLV bafM;k 
dEiuh

(2) cUnk cgknqj vkSj fczfV’k bZLV 
bafM;k dEiuh

(3) jktk j.kthr flag vkSj fczfV’k 
bZLV bafM;k dEiuh

(4) mijksDr lHkh

Q.144 The age of Ravi's father is two 
third of the age of Ravi's 
grandmonther and two times the 
age of Ravi. The sum of the ages 
of all the three is 132 years. What 
is the age of Ravi (in years)?

(1) 21

(2) 22

(3) 23

(4) 19

Q.145 A man deposited a sum of ̀  5000 
in a bank and earned an interest 
of ` 600 in 2 years How much 
would a deposit of ` 8000 earn 
an interest in the same period 
(Rate of interest being the same)

(1) ` 960

(2) ` 900

(3) ` 1200

(4) ` 1600

Q.146 Ahmad Shah Abdali invaded 
India during

(1) 1526 - 1530 

(2) 1530 - 1540

(3) 1660 - 1696 

(4) 1748 - 1761

Q.147 Treaty of Amritsar was signed 
between 

(1) Sikh and British East India 
Company

(2) Banda Bahadur and British 
East India Company

(3) Raja Ranjit Singh and British 
East India Company

(4) All of above
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Q.148 Ulemas advised sultan in

(1) Political matters

(2) Social matters

(3) Religious matters

(4) Educational matters

Q.149 The autobiography of Babur 
Tuzuk-i-Baburi is written in

(1) Hindi language

(2) Turkish language

(3) Urdu language

(4) None of these

Q.150 Purana Qila (old fort) of Delhi 
was built by

(1) Babur 

(2) Humayun 

(3) Sher Shah Suri 

(4) Shah Jehan

Q.151 Maharana Pratap belongs to 
which clan:

(1) Marwar 

(2) Chauhans 

(3) Suryavansi 

(4) Sisodiya

Q.152 W h o  w a s  t h e  Q u e e n  o f  
Gondwana against whom Akbar 
sent an army

(1) Durga Vati 

(2) Chand Bibi

(3) Dayavati 

(4) Nana Vati

iz-148 mYek] lqYrku dh enn fuEu esa ls 
fdl {ks=k esa djrs Fks\

(1) jktuSfrd ekeys

(2) lkekftd ekeys

(3) /kkfeZd ekeys

(4) ’kSf{kf.kd ekeys

iz-149 ckcj dh vkRedFkk ̂ rqT+ds ckcjh* fuEu 
esa ls fdl Hkk"kk esa fy[kh xbZ gS\

(1) fgUnh Hkk"kk

(2) rqdhZ Hkk"kk

(3) ÅnZw Hkk"kk

(4) buesa ls dksbZ ugha

iz-150 fnYyh esa fLFkr iqjkuk fdyk fuEu esa ls 
fdl ckn’kkg us cuok;k\
(1) ckcj 
(2)  gqek;w¡
(3) ’ksj’kkg lwjh 
(4) ’kkgtgk¡

iz-151 egkjk.kk izrki fuEu esa ls fdl    
DySu ¼[kkunku½ ls laca/k j[krs Fks\
(1) ekjokM+ 

(2)  pkSgku

(3) lw;Zoa’kh

(4)  fllksfn;k

iz-152 xksaM+okuk dh fdl jkuh ds f[kykQ 
vdcj us lsuk Hksth\

(1) nqxkZorh

(2) pk¡nchch

(3) n;korh

(4) ukukorh
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Q.153 Where Swami Vivekanand 
established 'The Rama Krishan 
Mission' in 1887?

(1) Belur 

(2) Baranagar

(3) Calcutta 

(4) Kanya Kumari

Q.154 Boston Tea Party was actually a 

(1) A tea party 

(2) A birthday party

(3) A marriage party 

(4) A revolt

Q. 155 In 1905 Bengal was partioned by 

(1) Lord Minto 

(2) Lord Curzon

(3) Lord Irwin 

(4) Lord Mountbatten

Q.156 Which region's wool attracted 
the traders in earlier days?

(1) Ladakh 

(2) Ludhiana

(3) Bengal 

(4) Tibet

Q. 157 In which country the game 
cricket originated?

(1) America 

(2) England

(3) Russia 

(4) China

iz-153 1887 esa ^jkekÑ".k fe’ku* Lokeh 
foosdkuan th us dgk¡ LFkkfir fd;k\

(1) csywj 

(2) cM+k uxj

(3) dydÙkk 

(4) dU;kdqekjh

iz-154 cksLVu Vh ikVhZ okLro esa D;k Fkh\

(1) pk; ikVhZ
(2) tUefnol ikVhZ
(3) ’kknh dh ikVhZ
(4) ,d foæksg ¼fojks/k½

iz-155 1905 esa caxky dk foHkktu fuEu esa ls 
fdlus fd;k\
(1) ykMZ feUVks 
(2) ykMZ dtZu
(3) ykMZ bfoZu
(4) ykMZ ekÅ¡V cSaVu

iz-156 izkphu le; esa O;kikfj;ksa dks fdl {ks=k 
dh Åu vkdf"kZr djrh Fkh\
(1) yík[k 

(2) yqf/k;kuk

(3) caxky

(4) frCcr

iz-157 fØdsV [ksy dk mn; fdl ns’k esa 
gqvk\

(1) vesfjdk

(2) bXySaM

(3) :l

(4) phu
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Q.158 Who among the following said, 
"Political Science is Master 
Science"?  

(1) Ploto

(2) Aristotle

(3) Hobbes

(4) Kautilya

Q.159 Who was the first vice President 
of India?

(1) Dr. S. Radhakrishnan

(2) Dr. Zakir Hussain

(3) C. Raj Gopalacharya

(4) Dr. B. R. Ambedkar

Q.160 Which day is celebrated as UN 
Day?  

(1) 20th October

(2) 24th October

(3) 10th December

(4) Ist November

Q.161 Who is the author of 'Das 
Capital'?

(1) M. K. Gandhi

(2) Pt. Jawaharlal Nehru

(3) Karl Marx

(4) John Ruskin

Q.162 Which  Sta tement  o f  the  
following is not correct?

(1) India is Republic

(2) India is secular State

(3) India is having Presidential 
form of Government 

(4) India has written constitution 

iz-158 fuEu esa ls ;g dFku fdldk gS fd 
^^jktuhfrd foKku] lcls cM+k foKku 
gS** \
(1) IysVks
(2) vjLrq
(3) gkCl
(4) dkSfVY;

iz-159 Hkkjr dk izFke mi jk"Vªifr dkSu Fkk\

(1) MkW- ,l jk/kkd‘".ku

(2) MkW- tkfdj gqlSu

(3) lh- jktxksikykpk;Z

(4) MkW- ch- vkj- vEcsMdj

iz-160 la;qDr jk"Vª fnol fdl fnu euk;k 
tkrk gS\

(1) 20 vDVwcj

(2) 24 vDVwcj

(3) 10 fnlEcj

(4) 1  uoEcj

iz-161 nkl dsfiVy uked iqLrd fdlus 
fy[kh\

(1) ,e- ds- xk¡/kh

(2) iafMr tokgj yky usg:

(3) dkyZ ekDlZ

(4) tku jlfdu

iz-162 fuEu esa ls dkSu&lk dFku lgh ugha gS\

(1) Hkkjr ,d x.krU=k gSA

(2) Hkkjr ,d /keZfujis{k jkT; gSA

(3) Hkkjr esa vè;k{kkRed ljdkj gSA

(4) Hkkjr dk lafo/kku fyf[kr gSA
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Q.163 The Word 'Union of State' is 
taken from Which Country?

(2) Britain

(2) Ireland

(3) Canada

(4) Japan

Q.164 By Which Amendment of the 
constitution women are given 
33% Reservation in Local bodies 
at rural level?   

(1) 73th

(2) 80th

(3) 49th

(4) 48th

Q.165 Where is H.Q. of International 
Court of Justice? 

(1) Genevo

(2) Washington

(3) Hague

(4) Tokyo

Q.166 Which of the following 
statement is correct? 

(1) G. K. Gokhale was political 
Guru of  M.K. Gandhi

(2) Tilak was liberal leader

(3) Jinha was founder of muslim 
league

(4) Non-cooperation movement 
was started in 1930 by M.K. 
Gandhi

iz-163 ^jkT;ksa dk lewg* ’kCn fdl ns’k ls 
fy;k x;k gS \

(1) fczVsu

(2) vk;j ySaM

(3) dukMk

(4) tkiku

iz-164 fdl lafo/kku la’kks/ku }kjk efgykvksa 
dks xzkeh.k Lrj ij LFkkuh; laLFkkvksa esa 
33% vkj{k.k fn;k x;k\

(1) 73oka

(2) 80oka

(3) 49oka

(4) 48oka

iz-165 vUrjk"Vªh; U;k;ky; dk eq[;ky; 
dgk¡ gS\

(1) ftusok

(2) okf’kaxVu

(3) gsx

(4) VksD;ks

iz-166 fuEu esa dkSu lk dFku lgh gS\

(1) xksiky d‘".k xks[kys xk¡/khth ds 
jktuhfrd xq# FksA

(2) fryd mnkjoknh usrk FksA

(3) ftUgk eqlfye yksx ds 
laLFkkid FksA

(4) xk¡/khth us vlg;ksx vkUnksyu 
1930 esa izkjEHk fd;kA
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Q.167 By which Amendment 
Fundamental Right of Property 
was abolished?

(1) 42nd Amendment

(2) 44th  Amendment

(3) 52 Amendment

(4) 61 Amendment

Q.168 Which Party is ruling in Orissa?

(1) Congress Party 

(2) Biju Janata Dal

(3) Rastriya  Janata Dal

(4) BJP

Q.169 Who is speaker of Haryana 
Assembly?

(1) Dr. Arvind Sharma 

(2) Kuldeep Sharma

(3) Paramjeet Singh

(4) Zakir Hussian

Q.170 Match the Following:

A. Feature made (i) Morine
by sea waves 

B. Feature made (ii)Mushroom
by glacier Rock

C. Feature made (iii) Levees 
by winds 

D. Feature made (iv) Arch 
by river   

A B C D

(1) iii iv i ii

(2) ii iii iv i

(3) i ii iii iv

(4) iv i ii iii

iz-167 fdl lafo/kku la’kks/ku }kjk lEifÙk dk 
ekSfyd vf/kdkj lekIr fd;k x;k\
(1) 42 ok¡ lalks/ku
(2) 44 ok¡ lalks/ku
(3) 52 ok¡ lalks/ku
(4) 61 ok¡ lalks/ku 

iz-168 mM+hlk esa fdl jktuhfrd ny dk 
’kklu gS\
(1) dkaxzsl ikVhZ
(2) chtq turk ny
(3) jk"Vªh; turk ny
(4) ch ts ih

iz-169 gfj;k.kk fo/kku lHkk dk vè;{k dkSu 
gS\
(1) MkW- vjfoUn ’kekZ
(2) dqynhi ’kekZ
(3) ijethr flag
(4) tkfdj gqlSu

iz-170  fuEu ;qXeksa dk feyku dhft,%
d- leqæh ygjksa (i) eksjsu

}kjk fufeZr 
vkd‘fr 

[k- fge }kjk fufeZr (ii) N=kd ’kSy
vkd‘fr 

x- ok;q }kjk fufeZr (iii)  rVcU/k 
vkd‘fr 

?k- unh }kjk fufeZr (iv) vkdZ ¼egjkc½
vkd‘fr 

d [k x ?k

(1) iii iv i ii

(2) ii iii iv i

(3) i ii iii iv

(4) iv i ii iii
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Q.171 The famous town Leh of Ladakh 
is situated on which river?

(1) Chenab

(2) Jhelam

(3) Ravi

(4) Indus

Q.172 Which type of soil is formed by 
leaching process?

(1) Laterite soil

(2) Sandy soil

(3) Mountain soil

(4) Red soil

Q.173 Which one of the following 
statements is not correct about 
'Prairies'.

(1) It is actually 'Sea of grass'.

(2) A local wind 'chinook' blows 
here.

(3) It is known as 'Granaries of 
world'.

(4) It is situated in 'North Africa'.

Q.174 Read the following statements.

A. Man modifies his 
environment.

B. Plants, animals and human 
beings are interdependent.

(1) Both 'A' and 'B' are true.

(2) Both 'A' and 'B' are false.

(3) 'A' is false and 'B' is true.

(4) 'A' is true and 'B' is false.

iz-171 yík[k dk izeq[k ’kgj ^ysg* fdl 
unh ij fLFkr gS \
(1) psukc
(2) >sye
(3) jkoh
(4) flU/kq

iz-172 fu{kkyu izfØ;k ls fdl feêh dk 
fuekZ.k gksrk gS\
(1) ySVjkbZV feêh
(2) cyqbZ feêh
(3) ioZrh; feêh
(4) yky feêh

iz-173 fuEufyf[kr dFkuksa esa ls ,d dFku 
^isz;jht* ds ckjs esa lR; ugha gS%

(1) ;g okLro esa ̂?kkl dk leqæ* gSA
(2) LFkkuh; gok ^fpuwd* ;gk¡ cgrh 

gSA
(3) bls ^lalkj dk /kkU;kxkj* dgrs 

gSaA
(4) ;g ̂mÙkjh vÝhdk* esa fLFkr gSA

iz-174 fuEufyf[kr dFkuksa dks if<+,A

v- euq"; vius i;kZoj.k dk :i 
cny nsrk gSA

c- ikS/ks] i’kq vkSj euq"; vkil esa 
,d nwljs ij fuHkZj gSA

(1) nksuksa ^v* vkSj ^c* nksuksa 
iw.kZ:i ls lR; gSaA

(2) nksuksa ^v* vkSj ^c* nksuksa 
iw.kZ:i ls vlR; gSaA

(3) ^v* vlR; gS vkSj ^c* lR; 
gSA

(4) ^v* lR; gS vkSj ^c* vlR; 
gSA
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Q. 175 Which of the following 
statements is not correct.

(1) Stratosphere contains a layer 
of Ozone gas.

(2) Ionosphere is a part of 
thermosphere.

(3) All weather phenomena 
occurs in Troposphere.

(4) Mesosphere is the fourth layer 
of the atmosphere.

Q.176 Match the following:

A. Tsunami is a (i) Tide
Japanese 
word that 
mean ... 

B. Periodic rise (ii) Harbour
and fall of      Waves

ocean 
 

C. Streams of (iii) warm 
water moving      current
constantly on 
the surface 
of water in 
definite path  

D. Generally it (iv) Ocean 
originate near     current
the equator  

(1) A-i, B-ii, C-iii, D-iv

(2)  A-ii, B-i, C-iv, D-iii

(3)  A-iv, B-iii, C-ii, D-i

(4)  A-iii, B-ii, C-iv, D-i

iz-175 fuEufyf[kr esa ls dkSu lk dFku lR; 
ugha gS\

(1) lerki e.My esa gh vkstksu xSl 
dh ijr gSA

(2) vk;ue.My m".ke.My dk gh 
Hkkx gSA

(3) lHkh ekSle laca/kh ?kVuk,a 
{kksHke.My esa gh ?kfVr gksrh 
gSA

(4) e/;e.My] ok;qe.My dh pkSFkh 
ijr gSA

iz-176 fuEufyf[kr ;qXeksa dk feyku dhft,%

v- lqukeh ,d (i)  Tokj HkkVk
tkikuh ’kCn gS 
ftldk vFkZ gS --- 

c- leqæh ikuh dk (ii)  gkjcj ygj 
fu;r dky esa 
p<+ko vkSj 
mrjko 

l- leqæh lrg (iii)  xeZ /kkjk
ij ,d fuf’pr 
iFk ij ikuh dk 
yxkrkj cguk 

n- lk/kkj.kr% bldk (iv)  leæq h /kkjk
Hkwe/; js[kk ds 
utnhd fuekZ.k 
gksrk gS 

(1) -i, -ii, -iii, -iv

(2)  -ii, -i, -iv, -iii

(3)  -iv, -iii, -ii, -i

(4)  -iii, -ii, -iv, -i

v c l n

v c l n

v c l n

v c l n
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iz-177 fuEufyf[kr esa ls dkSu lh fLFkfr esa 
^y?kq Tokj HkkVk* mRiUu gksrk gS\

(1) tc lw;Z] pUæek ,oa i‘Foh 
vuqØe ls ,d js[kk esa gksrs gSaA

(2) tc lw;Z] i‘Foh ,oa pUæek 
vuqØe ls ,d js[kk esa gksrs gSaA

(3) tc pUæek vius izFke ,oa 
vfUre i{k ds prqFkk±’k esa 
gksrk  gSA

(4) tc i‘Foh] lw;Z rFkk pUæek 
vuqØe ls ,d js[kk esa gksrs gSaA

iz-178

ik¡p iM+kslh ns’k vkSj Hkkjrh; jkT; 
uD’ks ij fpfUgr fd, x, gSa rFkk mUgsa 
1, 2, 3, 4, 5 ls n’kkZ;k x;k gSA buds 
uke gSa & v&iatkc] c&fgekpy izns’k] 
l&frCcr] n&ikfdLrku vkSj p&phuA

(1) 1-c, 2-n, 3-p, 4-v, 5-l

(2) 1-v, 2-c, 3-l, 4-n, 5-p

(3) 1-l, 2-v, 3-n, 4-c, 5-p

(4) 1-p, 2-n, 3-l, 4-v, 5-c

Q. 177 In which of the following 
situations does the neap tide 
occur?

(1) When sun, moon and earth 
are sequentially in one line.

(2) When sun, earth and moon 
are sequentially in one line.

(3) When the moon is in its first 
and last quarter.

(4) When the earth, sun and moon 
are sequentially in one line.

Q. 178

Five neighbouring countries and 
Indian states have been marked 
on the map as 1, 2, 3, 4, 5 and 
name as A-Punjab, B-Himachal 
Pradesh, C-Tibet, D-Pakistan 
and E-China.

(1) 1-B, 2-D, 3-E, 4-A, 5-C

(2) 1-A, 2-B, 3-C, 4-D, 5-E

(3) 1-C, 2-A, 3-D, 4-B, 5-E

(4) 1-E, 2-D, 3-C, 4-A, 5-B

1 
2 3 

4 

5

1 
2 3 

4 

5



52

Q.179 Asteroids are found between the 
orbit of :

(1) Saturn and Jupiter  

(2) Mars and Jupiter

(3) Earth and Mars

(4) Mars and Venus

Q.180 The continent of North America 
is linked to South America by:

(1) Strait

(2) Canal

(3) Mountain

(4) Isthums

iz-179 ,LVsjk;Ml ¼xzfgdk½ fdu xzgksa ds 
e/; ik;s tkrs gSa\

(1) ’kfu vkSj c‘gLifr

(2) eaxy vksj c‘gLifr

(3) i‘Foh vkSj eaxy

(4) eaxy vkSj ’kqØ

iz-180 mÙkj vesfjdk egk}hi nf{k.k 
vesfjdk ls tqM+k gqvk gS%

(1) tyMe:e/; 
(2) ugj
(3) ioZr 
(4) FkyMe:e/;

jQ dk;ZRough Work


